SH5E7 A6 BT
KEERTIRS BARBE | AT KEERTE (LA F IR FH | CEEARE KE BA
FRI9BF00%)
A 5 Fl — =] R
IEES A —$875 T4 B RERKEEIEISE TIEI5m KEERT K FEF N
¥ E i ¥ £ 13,321,000 H AW EHERMB@E £ 12 110 000 H
NI - A AL AR S RIS AL

e 2 &5 % B fsz & £ i =

KEEHET (B #ILE AR 1| %4l 11,700,000

KEEHET (B)fEEHM 2 11,900,000 DINEKE

KESHT (¥R EHL AR 2 11,900,000 ¥11,700,000 x1.1= ¥12,870,000

KEEHET (%) FIL#A 2 11,900,000

PN (B BAEE 5 11,950,000 HERRUHAHERODEE

KESHT (H) =Bk 5 11,950,000 ¥12,870,000 x 10/110=¥1,170,000




